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SENTENCE CORRECTION

1. Among the reasons for the decline of New England

agriculture in the last three decades were the high cost

of land, the pressure of housing and commercial

development, and basing a marketing and distribution
system on importing produce from Florida and

California.

(A) basing a marketing and distribution system on
importing produce from Florida and California

(B) basing a marketing and distribution system on the
importing produce of from Florida and California

(C) basing a system of marketing and distribution on
the import of produce from Florida and California

(D) a marketing and distribution system based on
importing produce from Florida and California

(E) a marketing and distribution system importing
produce from Florida and California as its base

2. The most common reasons for an employee's
unwillingness to accept a transfer are that mortgage
rates are high, housing in the new location costs more,
and the difficulty of selling the old home.

(A) that mortgage rates are high, housing in the new
location costs more, and the difficulty of selling
the old home.

(B) that mortgage rates are high, housing in the new
location costs more, and that it is difficult to sell
the old home L 8

(C) high mortgage rates, the greater cost of housing in
the new location, and that the old home is difficult

to sell

(D) high mortgage rates, the greater cost of housing in
the new location, and it is difficult to sell the old
home.

(E) high mortgage rates, the greater cost of housing in
the new location, and the difficulty of selling the

old home
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3. The caterpillar of the geometrid moth strikes when EILK
special tactile hairs on its body are disturbed, after
capturing its prey, holds the victim so that it cannot

escape.

(A) strikes when special tactile hairs on its body are
disturbed,

(B) striking when special tactile hairs on its body are
disturbed, but

(C) which strikes when special tactile hairs on its
body are disturbed,

(D) which, striking when special tactile hairs on its
body are disturbed,

(E) strikes when special tactile hairs on its body are
disturbed and,

4. Inflation in medical costs slowed in 1986 for the fifth
consecutive year but were still about 50 percent greater
than the rate of price increases for other items included

in the consumer price index.

(A) Inflation in medical costs slowed in 1986 for the
fifth consecutive year but were

(B) Inflation in medical costs slowed for the fifth
consecutive year in 1986 but was

(C) In 1986 inflation in medical costs were slowed for
the fifth consecutive year but were

D) 1986 was the fifth consecutive year in which
inflation in medical costs slowed but was

(E) 1986 was the fifth consecutive year that inflation in
medical costs were slowed, but they were

5. Researchers at Comell University have demonstrated
that homing pigeons can sense changes in the earth’s
magnetic field, see light waves that people cannot see,
detect low-frequency sounds from miles away, sense
changes in air pressure, and can identify familiar odors.

(A) sense changes in air pressure, and can identify
familiar odors

(B) can sense changes in air pressure, and can
identify familiar odors
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(C) sense changes in air pressure, and identify
familiar odors

(D) air pressure changes can be sensed, and familiar
odors identified

(E) air pressure changes are sensed, and familiar
odors identified

A fire in an enclosed space burns with the aid of
reflected radiation that preheats the fuel, making
ignition much easier and flames spreading more
quickly.

(A) flames spreading

(B) flame spreads

(C) flames are caused to spread

(D) causing flames to spread

(E) causing spreading of the flames

It is a special feature of cell aggregation in the
developing nervous system that in most regions of the
brain the cells not only adhere to one another and also

adopt some preferential orientation.
(A)to one another and also adopt
(B)one to the other, and also they adopt
(C)one to the other, but also adopting
(D)to one another but also adopt

(E)to each other, also adopting

8. Slips of the tongue do not necessarily reveal concealed

beliefs or intentions but rather are the resuit from the
competition between various processing mechanisms

in the brain.

(A) but rather are the result from
(B) and instead are the result from
(C) being rather the result of

(D) and rather result from

(E) but rather result from

9. The report on the gross national product—the nation's

total production of goods and services—showed that
second-quarter inflation was somewhat lower than a

Eic X
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previous estimation and the savings rate slightly

higher.

(A) a previous estimation and the savings rate slightly
higher.

(B) a previous estimation and with a slightly higher
savings rate

(C) a previous estimate and that the savings rate is
slightly higher

(D) previously estimated and a slightly higher savings
rate ’

(E) previously estimated and that the savings rate was
slightly higher

Zic K
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Unlike the acid smoke of cigarettes, pipe tobacco,
cured by age-old methods, yields an alkaline smoke
too irritating to be drawn into the lungs.

(A)Unlike the acid smoke of cigarettes, pipe tobacco,
cured by age-old methods, yields an alkaline
smoke

(B) Unlike the acid smoke of cigarettes, pipe tobacco is
cured by age-old methods, yielding an alkaline
smoke

(O)Unlike cigarette tobacco, which yields an acid
smoke, pipe tobacco, cured by age-old methods,
yields an alkaline smoke

(D)Differing from cigarettes' acid smoke, pipe
tobacco's alkaline smoke, cured by age-old
methods, is

(E) The alkaline smoke of pipe tobacco differs from
cigarettes' acid smoke in that it is cured by age-old
methods and is

2. Like Byron at Missolonghi, Jack London was slowly

3

killed by the mistakes of the medical men who treated
him.

(A) Like Byron

(B) Like Byron's death

(C) Just as Byron died

(D) Similar to Byron

(E) Asdid Byron

Unlike the lives of Pushkin, Gogol, Tolstoi, and
Dostoevski, subiects of other Troyat biographies,

Chekhov belongs to the twentieth century, an age of

fretfulness and melancholy skepticism.

(A) Unlike the lives of Pushkin; Gogol, Tolstoi, and
Dostoevski, subjects of other Troyat biographies,
Chekhov belongs

(B) Chekhov, unlike the other Troyat biographies of

(C) The life of Chekhov, unlike the lives of the

oKX
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subjects of other Troyat biographies, Pushkin,
Gogol, Tolstoi, and Dostoevski, belongs

(D)Chekhov and his life, unlike that of the other
Troyat biographies—Pushkin, Gogol. Tolstui, and
Dostoevski, belong

(E)The life of Chekhov, unlike that of other Troyat
biographies of Pushkin, Gogol, Tolstoi, and
Dostoevski, belongs

Because young children do not organize their attention
or perceptions systematically, like adults, they may
notice and remember details that their elders ignore.
(A) like adults

(B) unlike an adult

(C) as adults

(D) as adults do

(E) as an adult

Los Angeles has a higher number of family dwellings

per capita than any Jarge city.

(A) a higher number of family dwellings per capita
than any large city

(B) higher numbers of family dwellings per capita
than any other large city

(C) a higher number of family dwellings per capita
than does any other large city

(D) higher numbers of family dwellings per capita
than do other large cities

(E) a high per capita number of family dwellings,
more than does any other large city

In 1980 the United States exported twice as much of

its national output of goods as they had in 1970.

(A) twice as much of its national output of goods as
they had

(B) double the amount of their national output of
goods as they did

(C) twice as much of its national output of goods as it
did

EiLK
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(D) double the amount of its national output of goods
as it has

(E) twice as much of their national output of goods as
they bad

According to surveys by the National Institute on Drug
Abuse, about 20 percent of young adults used cocaine
in 1979, doubling those reported in the 1977 survey.
(A) doubling those reported in the 1977 survey

(B) to double the number the 1977 survey reported

(C) twice those the 1977 survey reported

(D) twice as much as those reported in the 1977 survey
(E) twice the number reported in the 1977 survey

Florida will gain another quarter-million jobs this year
alone, many of them in high-paying fields like

electronics and banking, making the state's economy
far more diversified than ten years ago.

(A) high-paying fields like electronics and banking,
making the state's economy far more
diversified than

(B) high-paying fields like electronics and banking,
and making the state’s economy far more
diversified than its economy

(C) high-paying fields such as electronics and
banking, to make the state's economy far
more diversified than

(D) such high-paying fields as electronics and
banking, making the state's economy far
more diversified than it was

(E) Such high-paying fields as electronics and
banking, and make the state's economy far
more diversified than it was.

‘It is as difficult to prevent crimes against property as
those that are against a person

(A) those that are against a

(B) those against a

(C)itis against a

ELLK



BEEAFERER ()

10.

11.

(D)preventing those against a
(B)it is to prevent those against a

Few people realize that the chance of accidental injury

or death may be as great or greater in the "safety” of

their own homes than in a plane or on the road.

(A) may be as great or greater in the "safety” of their
own homes than

(B) is at least as great or greater in the "safety" of their

own homes than

(C) might be so great or greater in the "safety" of their
own home as

(D) may be at least as great in the "safety” of their
own homes as

(E) can be at least so great in the "safety” of their own
home as

During the 1980s it became clear that soliciting,

private funds was far more _efficient for

environmentalists who sought financial aid than to go

to state or federal agencies.

(A) that soliciting private funds was far more efficient
for euvironmen talists who sought financial aid

(B) that for environmentalists who sought financial
aid, it was far more efficient to solicit private
funds

(C) that for environmentalists seeking financial aid,
private organizations were far more efficient to go

to
(D) for environmentalists seeking financial aid, going
to private organizations was far more efficient
(E) for environmentalists who sought financial aid,
private organizations were far more efficient

12. Although the lesser cornstatk borer is widely distributed,

control of them is necessary only in the South.
(A) the lesser comstalk borer is widely distributed,
control of them is
(B) widely distributed, measures to control the lesser
cornstalk borer are

ELK
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(C) widely distributed, lesser comstalk borer control is

(D) the lesser cornstalk borer is widely distributed,
measures to control it are

(E) it is widely distributed, control of the lesser
comstalk borer is

13. Nowhere in Prakta is the influence of modern European

4.

architecture more apparent than their

government buildings.

(A) more apparent than their
(B) so apparent as their

(C) more apparent than in its
(D) so apparent than in their
(E) as apparent as it is in its

Inflation has made many Americans reevaluate their

assumptions about the future; they still expect to live

better than their parents have, but not so well as they

once thought they could.

(A) they still expect to live better than their parents
have

(B) they still expect to live better than their parents did

(C) they still expect to live better than their parents had

(D) still expecting to live better than their parents had

(E) still expecting to live better than did their parents

EiLkK
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1. The major areas of medicine in which lasers are
effective is in the cutting and closing, of blood vessels,
and in the destruction of tumors.
(A) is in the cutting and closing of blood vessels, and
in the destruction
(B) are the cutting and closing of blood vessels, and
also the case of destroying
(C) are the cutting, closing of blood vessels, and in the

destroying

(D) are the cutting and closing of blood vessels, and
the destruction

(E) is in the cutting and closing of blood vessels, and
the destroying

2. An attempt to ratify the Equal Rights Amendment, begun
almost two decades ago, has been unsuccessful despite
efforts by many important groups, including the
National Organization for Women.

(A) to ratify the Equal Rights Amendment, begun
almost two decades ago,
(B) begun almost two decades ago, for ratifying the v
Equal Rights Amendment
(C) begun for ratifying the Equal Rights Amendment
almost two decades ago
(D) at ratifying the Equal Rights Amendment, begun
almost two decades ago,
(E) that has begun almost two decades ago to ratify the
Equal Rights Amendment

3. One of every two new businesses fail within two years.
(A) fail
(B) fails
(C) should fail
(D) may have failed
(E) has failed
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4. Developing nations in various parts of the world have | 4 i &
amassed $700 billion in debts; at stake, should a
significant number of these debts be repudiated, is the
solvency of some of the world's largest multinational
banks.

(A) should a significant number of these debts be
repudiated, is

(B) should a significant number of these debts be
repudiated, are

(C) should they repudiate a significant number of these
debts, are

(D) if there is a repudiation of a significant number of
these debts, would be

(E) if a significant number of these debts will be
repudiated, is

5. One of four babies are now bom to mothers aged thirty
' years or more, compared with just one of six born in
1975.
(A)of four babies are now born to mothers aged thirty
years or more, compared with just one of six born
(B) of four babies is now born to a mother whose age
is thirty of older, compared to just one of six babies
who were bomn
(C) baby in four are now born to mothers aged thirty or
older, compared to just one in six
(D) baby in four is now born to a mother aged thirty or
older, compared with just one in six
(E) baby in four is now bom to mothers aged thirty
years or more, compared to just one in six

6. The relationship between corpulence and disease remain
controversial, although statistics clearly associate a
reduced life expectancy with chronic obesity.

(A) remain controversial, although statistics clearly
associate a reduced life expectancy with »

(B) remain controversial, although statistics clearly
associates a reduced life expectancy with

(C) remain controversial, although statistics clearly
associates reduced life expectancy to
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(D) remains controversial, although statistics clearly
associate a reduced life expectancy with

(E) remains controversial, although statistics clearly
associates reduced life expectancy to

Although it claims to delve into political issues,
television can be superficial such as when each of the
three major networks broadcast exactly the same
statesmen from a political candidate.

(A) superficial such as when each of the three major
networks

(B) superficial, as can sometimes occur if all of the
three major networks '

(C) supetficial if the three major networks all

(D) superficial whenever each of the three major
networks

(E) superficial, as when the three major networks each

LK
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Even though its per capita food supply hardly increased
during two decades, stringent rationing and planned

distribution have allowed the People's Republic of
China to ensure nutritional levels of 2,000 calories per

person per day for its population.

(A) Even though its per capita food supply hardly
increased during

(B) Even though its per capita food supply has hardly
increased in

(C) Despite its per capita food supply hardly
increasing over

(D) Despite there being hardly any increase in its per
capita food supply during

(E) Although there is hardly any increase in per capita
food supply for

At a recent session, the French government has
decided that Paris needs a second, larger opera house
to complement the famous Paris Opera.

(A) has decided that Paris needs

(B) decided that Paris needs

(C) has decided that Paris will need

(D) decided that Paris has a need of

(E) has decided that Paris needed

For many travelers, charter vacations often turn out to
cost considerably more than they originally seemed.
(A) they originally seemed
(B) they originally seem to
(C) they seemingly would cost originally
(D) it seemed originally
(E) it originally seemed they would

The utility company has announced that it will
permanently close its Unit I nuclear power plant, the
first plant that had been built by private industry and the
model for a generation of modem nuclear reactors.

£icX
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(A)that had been built by private industry and £ K
(B)built by private industry and which was

(O)to be built by private industry and which was
(D)built by private industry and
(E)to have been built by private industry and was

5. Although it was expected that workers under forty
would show hostility to the plan, the research report
indicates that both younger and the older people

approve of governmental appropriations for Social
Security.

(A) younger and the older people

(B) younger people and the older

(C) the younger and the older people

(D) younger and older people

(E) people who are younger and those who axe older

6. As researchers continue to probe the highly expressive
vocal and postural language of wolves, their close
resemblance to dogs has become ever more sailing.

(A) their close resemblance to dogs has become

(B) the closeness of their resemblance to dogs has
become

(C) the close resemblance between them and dogs has
become

(D) the close resemblance between wolves and dogs
becomes

(E) the close resemblance of wolves with dogs
becomes

7. In the most common procedure for harvesting forage
crops such as alfalfa, as much as 20 percent of the leaf
and small-stem material, which is the most nutritious
of all the parts of the plant, shattered and fell to the
ground.

(A) which is the most nutritious of all the parts of the
plant, shattered and fell
(B) the most nutritious of all parts of the plant, shatter
and fall




